S REEI022 4 A3 2N A BT K

FTAl - @A ATAAEIE Ry (— Ak )
AHLRTHRANEES - B~ DTS -

8 MEest %—l\ A % /[ B

¥ ERELEL (F) NHL

—  (T%)

O'Reilly Company lost 60% of its inventory in a fire on December 31, 2011. The accounting records showed the following

gross profit data for November and December.
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November  December (to 12/31)
Net sales $640,000 $620,000
Beginning inventory 31,000 28,000 ;
Purchases 410,000 460,000 f~
Purchase returns and allowances 14,000 11,800 L
Purchase discounts 5,000 8,200 >
Freight-in 6,000 9,000 ,;
Ending inventory 28,000 9

Instructions:

O'Reilly is fully insured for fire losses but must prepare a report for the insurance company. Using the gross profit rate for
November, determine the estimated cost of the inventory lost in the fire.
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Information related to AAA Company for 2013 includes: Total sales$1,500,000, where cash sales account for $700,000;
Accounts receivable at yearend $365,000; Bad debts written off during the year $22,150.
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Instructions:

(a) Assume that AAA Company decides to estimate its bad debts expense to be 2% of credit sales. What amount of bad debts
expense will be recorded if Allowance for Doubtful Accounts has a credit balance of $5,000? (3%)

(b) Assume that AAA Company decides to estimate its bad debts expense based on 6% of accounts receivable. What amount of
bad debts expense will be recorded if Allowance for Doubtful Accounts has a debit balance of $4,000? (3%)
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Central Company was organized on January 1. During the first year of operations, the followmg plant asset expenditures and
receipts were recorded:

(1) Cost of filling and grading the land $ 2,000; (2) Full payment to building contractor $500,000; (3) Real estate taxes on land
paid for the current year $5,000;(4) Excavation costs for new building $20,000; (5) Cost of real estate purchased as a plant site
$160,000; (6) Architect's fees on building plans $20,000; (7) Accrued real estate taxes paid at time of purchase of real estate
$5,000; (8) Cost of parking lots and driveways $10,000; (9) Cost of demolishing building to make land suitable for construction
of new building $13,000; (10) Proceeds from salvage of demolished building $4,000.

Instructions:

(a) Determine the amounts of the building and the land, respectively. (6%)

(b) Assuming that the construction of the building is completed on April 1, 2011. Calculate annual depreciation expenses for
the whole useful life of this building. Suppose that the company uses the double declining—balance method, the useful life
is 5 years, and the residual value is $30,000. (9%)

(c) Assuming the same facts in (b), but now the company use straight-line method to recognize building depreciation expenses.
Moreover, on January 1, 2013, the company decides that the remaining useful life should be 5 years, and the residual
value should be $5,000. Calculate annual depreciation expenses for the whole useful life of this building. (5%)
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On May 31, 2013, ABC Company had a cash balance per books of £6,841.50. The bank statement from Farmers. Community

Bank on that date showed a balance of £6,404.60. A comparison of the statement with the cash account revealed the following:
facts. '

(1) The bank statement included a £60 printing expense of company checks. _

(2) A £2,500 note receivable was collected by the bank for ABC Company on May 31 plus £90 interest. The bank charged a
collection fee of £20. No interest has been accrued on the note.

(3) On May 31, the bank statement showed an NSF of £700 for a check issued by Sandy Grifton, a customer, to ABC Company
on account.

(4) On May 18, ABC company issued check No. 1181 for £685 to Barry Trest, on account. The check, which cleared the bank
in May, was incorrectly journalized and posted by ABC Company for £658.

(5) Cash sales of £806.15 on May 12 were deposited in the bank. The cash recelpts journal entry and the deposit Sl]p were
incorrectly made for £886.15. The bank credited ABC Company for the correct amount.

(6) Outstanding checks at May 31 totaled £576.25. Deposits in transit were £1,916.15.

(7) Included with the cancelled checks was a check issued by Bridgetown Company to Tom Lujak for £800 that was incorrectly
charged to ABC Company by the bank.

Instructions
(2) Prepare the bank reconciliation at May 31, _2()13. (10%)
(b) Prepare the necessary adjusting entries for ABC Company at May 31, 2013. (5%)
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